°
3aXXUMbl perynmpyemMble U30rHyTble C BUHTOM
Onucanue ToBapa/cotorpachusa npoaykra
OnucaHue
Martepuan:
YnyJweHHas ctanb.
bontbl, ynyyiieHHble 1o 8.8.
WUcnonHeHwue:
3aXNUMbl NOKPALLEHBI,
' BUHTbI BOPOHEHHbIE.
YKa3aHwue:
F 3aBucuT oT rny6uHbl nasa no DIN 650.
Yeprexu
D D1
AL Teal | N
[ TR =
- 4
! : |y
—_——
ul. [
E1 E2
: |
3 19 D) =
| |
L
0630p uspenuin
3a)XUMbl perynmpyemMble N30rHyTbieé C BUHTOM
Homep 3akasa L A Al B Bl E E F G D D1 M F
ons kH
T-nasa
K1450.1010 100 15 30 30 15 32 32 22-46 10 M10x80 M0 12 139
K1450.1212 125 20 40 40 20 40 40 28-58 12 M12x100 Mi12 16 20,2
K1450.1214 125 20 40 40 20 40 40 28-56 14 M12x100 M12 16 20,2
K1450.1616 160 25 50 50 25 49 50 36-72 16 M16x125 M6 20 378
K1450.1618 160 25 50 50 25 49 50 36-69 18 M16x125 Mi6 20 378
K1450.2020 200 30 60 60 30 55 70 43-92 20 M20x160 M20 24 588
K1450.2022 200 30 60 60 30 55 70 43-92 22 M20x160 M20 24 588

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 11



